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S BHES
X otsE A3l
Chel: SO MoIMA ALY (Srol: 22)
S - BB SR(BH) - KISAY - BAS A 2t
0 Ss2XNFHISA 2,000
tHE Z0| Il= o= 7,000 7,500
101 el t| 6,000 6,000
M IItM2E2 XS 6,000 6,000
0 AtAIZ 20| I o Q12|
1,500,000 *4Z 2| 6,000
206 =4l 1,000 1,500
01 M=l 1,000 1,500
0 AHHIE 20| Il= ots &4 M7
1,000,000 * 14 1,000
SatEA sXl2tel 12,000 12,000
201 L2 | 12,000 12,000
01 Ar22eltl 12,000 12,000
0 SEEA A2e 22572
1,000,000& = 12& 12,000
ZRA ZelArd 3,000 3,000
401 A& HIZLS0HY| 3,000 3,000
01 AlEHI 3,000 3,000
0 E2RAZ2ALY 3,000
HY2HHH|(ot=3) 50,760 52,300
Jl2ddl(atss) 50,760 52,300
Jl2ZHl(atss) 50,760 52,300
201 L2 | 39,080 40,580
01 At 22|l 39,080 40,580
0 2et+2HI(SS) 700,000& *22% 15,400
0 MEF=ER 15,0002 x6 2+ 12& 1,080
0 2HI(2S) 8,000& x22H 100 17,600
0 SCHIHOHOIE HMEHESE 7 5,000
203 R =& 11,680 11,720
01 J|22H R F=AH| 6,600 6,600
03 550,000& =123 6,600
02 HRIHH R F=AH| 880 920
0 & APD|EE 40,0003 x22H 880
04 FA2ELRFAL 4,200 4,200
0 2N2Z 350,000& 123 4,200




